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SN SNERSD
¥y 4F SENH 7S
el sM2 AE BHY P (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 30,000 30,000 0
01 IXNHHBNEES 30,000 30,000 0
OO0 Jtg2] MEX 30,000
QIHY AT=E SAY 238 600,000 1,054,500 A 454,500
= 300,000
< 300,000
306 =93 600,000 0 600,000
= 300,000
< 300,000
01 &3 600,000 0 600,000
OQHYAEE sAE 23t 600,000
& 300,000
< 300,000
stERsSAINL 9,718,000 12,795,487 A 3,077,487
= 5,724,000
= 565,000
< 3,429,000
INONE S = 380,000 0 380,000
307 21201 A 140,000 0 140,000
02 QIZtFAE XS 140,000 0 140,000
oreas==s4 140,000
308 XXIEHSOIA 240,000 0 240,000
01 IXNSHHBNEES 240,000 0 240,000
SHEG MATIZE 4 120,000
OsSegHExXH F4 120,000
StEFSAESEUHNZ 1,105,000 1,000,000 105,000
403 MHXHHSA=0l& 1,105,000 1,000,000 105,000
01 HXSHMA=E X 1,105,000 1,000,000 105,000
OsttERSAE SUHSAA 1,105,000
LESME(GAP)AIE 2 144,000 398,520 A 254,520
= 120,000
= 24,000
403 MtXISHH S0l & 144,000 398,520 A 254,520
= 120,000
< 24,000
01 XM A=2EE 144,000 398,520 A 254,520
OR=st2(GAP)AIZE2 144,000
= 120,000
< 24,000
GAP Q1E =0t LA AH K& (EX) 276,000 198,072 77,928
= 245,000
< 31,000




2N sttERsSH
&

M [F SEHH 7S
H: siERSAINM (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET
308 XXM SO0l A 276,000 198,072 77,928
= 245,000
< 31,000
01 IXNHHBNEES 276,000 198,072 77,928
OGAPRI S =0t &t E o ZAHl K& AL 276,000
= 245,000
< 31,000
SUSZHAEHE & SUHSAIE ALY 6,967,000 7,445,000 A 478,000
= 5,359,000
= 1,608,000
403 XSS X201 & 6,967,000 7,445,000 A 478,000
= 5,359,000
< 1,608,000
01 AXSHMA2E = 6,967,000 7,445,000 A 478,000
OstE=ZHAIZEE & JUSAIE ALY 6,967,000
= 5,359,000
< 1,608,000
TEHEHEM AL XA 565,000 700,000 A 135,000
& 565,000
308 AHAIEHHSOIA 565,000 700,000 A 135,000
= 565,000
01 AXSGHBLEES 565,000 700,000 A 135,000
OREHEHE W23 XA 565,000
= 565,000
SsSN=E MIFEHE 44X 181,000 181,395 A 395
308 XXM SOl A 181,000 181,395 A 395
01 IXNHHBNEES 181,000 181,395 A 395
O=sS¢= MAEHE SHXE 181,000
=g sSNE g2 & 21 100,000 0 100,000
201 Let24E] 100,000 0 100,000
01 At 22l 100,000 0 100,000
CRMEHE 828 & &1 100,000
sStgAFd 35,855,015 29,759,373 6,095,642
= 3,000,000
=2 17,639
< 32,837,376
St A KA 32,715,015 24,759,373 7,955,642
=2 17,639
< 32,697,376
308 MtXIEHSOIH 32,715,015 24,759,373 7,955,642
= 17,639
< 32,697,376
01 HXNHHNBHEES 32,639,161 24,683,519 7,955,642




SN SNERSD
¥y 4F SENH 7S
el DI AEX (B9 ®R)
5 - 4
SA BB (3H) - NRAY - B Ol At o %E& HRE2
Oz 2a34 I& 29,854,626
Ostua4al AlEZH XN 2,784,535
06 B=J|&0tistEx2 75,854 75,854 0
O aAH K& 75,854
= 17,639
= 58,215
St A XSEE X 3,140,000 5,000,000 A 1,860,000
2 3,000,000
= 140,000
307 QI2t0| ™ 40,000 0 40,000
05 QIZtREZ 40,000 0 40,000
OstnZAXNIANHEINY XNIMAHPS 40,000
308 AHXIEHMSOIA 100,000 0 100,000
01 AIXSHMEAMNEX= 100,000 0 100,000
OB DSAXAME 29 245 X2 100,000
403 XX SHHS K20 & 3,000,000 5,000,000 A 2,000,000
2 3,000,000
01 XIS A=Z2E X 3,000,000 5,000,000 A 2,000,000
OzZEERSAAE 2= 3,000,000
2 3,000,000
EIZCE S H3 XA 422,500 427,500 A5,000
SSANE EB2Y A 28 225,000 197,000 28,000
307 QI2t0| ™ 177,000 197,000 A 20,000
02 Q2tAMNEXZ 177,000 197,000 A 20,000
OsEd=2 g8 & A=A 137,000
oors0t sH X& 40,000
403 XX SHHS K20| & 48,000 0 48,000
01 XIS A =2E X 48,000 0 48,000
Os=4t =228 ZHOE 24,000
OFARHOIAIY &HAHE 24,000
Aol 243 197,500 230,500 A 33,000
201 LBt 9| 4,000 10,000 A 6,000
01 AP 22| H| 4,000 10,000 A 6,000
OsEANM2E HATHE S22 4,000
307 QI2t0| ™ 80,000 80,000 0
02 A2AtAMNEXZ 80,000 80,000 0
OzZZEE Z2ea UsH 50,000
OzzdZE 28 ¥ =g =X 30,000
308 AXISHHMSOIA 63,000 90,000 A 27,000
01 AIXSHENEXZ 63,000 90,000 A 27,000
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